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Sketch the situation.
The circle c touches the x-axis at (−g, 0) and 
touches the y-axis at (0, −f ).
The line passes through the centre of the circle c.

[If a point is on a line, substitute the point into the equation of the 
line and it satisfies the equation.]

The points (−g, 0) and (0, −f ) satisfy the equation of the circle.

To find the equation of each circle, choose g = +f  for the first circle equation and g = −f  for the  
second circle equation.

[Substitute into Eqn. (1)]

Question 4 (25 marks)

[Substitute into Eqn. (2)]
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Formulae and Tables Book
Co-ordinate geometry: Circle [page 19]

Given centre (h, k) and radius r
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